
$f : D \subseteq \mathbb{R} \rightarrow \mathbb{R}$
 $f(x_1) < f(x_2), \quad x_1, x_2 \in D.$
 $f(x_1) > f(x_2), \quad x_1, x_2 \in D.$

$f'(x) > 0, \quad x \in D,$
 $f'(x) < 0, \quad x \in D,$
 $f'(x) = 0, \quad x \in D.$

I: $f(x) = c, \quad x = a$
 $f(x) > c, \quad x > a,$
 $f(x) < c, \quad x < a,$
 $f(x) = c, \quad x = a.$

$a^x + b^x = (a+b)^x, \quad a, b \in \mathbb{R} \setminus \{0, 1\}, \quad x = 1.$

$\left(\frac{a}{a+b}\right)^x + \left(\frac{b}{a+b}\right)^x = 1, \quad a, b \in \mathbb{R} \setminus \{0, 1\}, \quad x = 1.$

$9^x - 1 = 2^x(3 + 3 \cdot 2^x + 2^{2x}), \quad x \in \mathbb{R}.$
 $9^x = 1 + 3 \cdot 2^x + 3 \cdot 2^{2x} + 2^{3x},$
 $9^{\frac{x}{3}} = 1 + 2^x,$
 $t = \frac{x}{3}, \quad 9^t = 1 + 8^t,$

$$\left(\frac{1}{9}\right)^t + \left(\frac{8}{9}\right)^t = 1 \quad (*)$$

$$t=1. \quad f(t) = \left(\frac{1}{9}\right)^t + \left(\frac{8}{9}\right)^t,$$

$$f: \mathbb{R} \rightarrow \mathbb{R}^+. \quad \begin{matrix} f(t) \\ 1 \\ t=1 \end{matrix}, \quad \begin{matrix} (*) \\ x=3 \end{matrix}$$

2: () ()

$$: f(x) \quad g(x)$$

$$D. \quad f'(x) < 0 \quad g'(x) < 0.$$

$$h(x) = f(x) + g(x), \quad h'(x) < 0,$$

$$f(x) \quad g(x)$$

D.

$$\diamond : 2^x + 3^x = 7 + 2\sqrt{3^x}, \quad x \in \mathbb{R}.$$

$$: \begin{matrix} x \leq 0, & 2^x + 3^x \leq 1 + 1 = 2, & 7 + 2\sqrt{3^x} > 7, \\ x \leq 0 & & x > 0. \end{matrix}$$

$$3^x - 2\sqrt{3^x} + 1 + 2^x = 8,$$

$$(\sqrt{3^x} - 1)^2 + 2^x = 8, \quad ((\sqrt{3})^x - 1)^2 + 2^x = 8.$$

$$f(x) = (\sqrt{3^x} - 1)^2, \quad f: (0, \infty) \rightarrow \mathbb{R} \quad g(x) = 2^x, \quad g: (0, \infty) \rightarrow \mathbb{R} \quad f(x)$$

$$g(x) \quad , \quad h(x) = f(x) + g(x)$$

$$1, \quad h(x) = 8$$

$$h(2) = 8, \quad x = 2$$

3: () ()

$$D, \quad g(x) \quad ()$$

$$D. \quad x = a \quad f(x) = g(x), \quad x = a$$

$$: f(x) \quad D, \quad g(x)$$

$$D. \quad -g(x)$$

$$D, \quad f(x) - g(x)$$

$$D. \quad 1, \quad f(x) - g(x) = 0,$$

$$\dots f(x) = g(x)$$

$$\diamond : \log_{\frac{1}{3}}(7 + (\sqrt{2})^x) + 0,5x = 0,5 \log_{\frac{1}{3}}(3 + (\sqrt{2})^x + 2^x).$$

:

$$\log_{\frac{1}{3}}(7 + (\sqrt{2})^x) + \log_{\frac{1}{3}}\left(\frac{1}{3}\right)^{\frac{x}{2}} = \log_{\frac{1}{3}}\sqrt{3 + (\sqrt{2})^x + 2^x},$$

$$\log_{\frac{1}{3}}(7 + (\sqrt{2})^x)\left(\frac{1}{3}\right)^{\frac{x}{2}} = \log_{\frac{1}{3}}\sqrt{3 + (\sqrt{2})^x + 2^x},$$

$$7\left(\frac{1}{\sqrt{3}}\right)^x + \left(\frac{\sqrt{2}}{\sqrt{3}}\right)^x = \sqrt{3 + (\sqrt{2})^x + 2^x}.$$

$$f, g : \mathbb{R} \rightarrow \mathbb{R}^+, f(x) = 7\left(\frac{1}{\sqrt{3}}\right)^x + \left(\frac{\sqrt{2}}{\sqrt{3}}\right)^x \quad g(x) = \sqrt{3 + (\sqrt{2})^x + 2^x}.$$

$$f(x) = g(x) \quad x = 2. \quad f(x)$$

$$, \quad g(x)$$

3

$$x = 2$$

❖

:

$$10^x + 11^x + 12^x = 13^x + 14^x$$

R.

:

$$\left(\frac{10}{13}\right)^x + \left(\frac{11}{13}\right)^x + \left(\frac{12}{13}\right)^x = 1 + \left(\frac{14}{13}\right)^x.$$

$$f(x) = \left(\frac{10}{13}\right)^x + \left(\frac{11}{13}\right)^x + \left(\frac{12}{13}\right)^x \quad g(x) = 1 + \left(\frac{14}{13}\right)^x, f, g : \mathbb{R} \rightarrow \mathbb{R}^+.$$

f(x)

$$, \quad g(x)$$

3

$$f(x) = g(x)$$

$$f(2) = g(2), \quad x = 2$$

$$- \quad x < 2, \quad f(x) > f(2) \quad g(x) < g(2),$$

$$g(x) < g(2) = f(2) < f(x),$$

2;

$$- \quad x > 2, \quad f(x) < f(2) \quad g(x) > g(2),$$

$$f(x) < f(2) = g(2) < g(x),$$

2.

x = 2

$$\underline{\text{4:}} \quad f(x) \quad g(x) \quad ($$

)

$$D. \quad (g \circ f)(x)$$

$$: \quad x_1, x_2 \in D \quad x_1 < x_2. \quad f(x) \quad g(x)$$

$$D, \quad f(x_1) < f(x_2) \quad g(f(x_1)) < g(f(x_2)),$$

$$(g \circ f)(x_1) < (g \circ f)(x_2), \quad (g \circ f)(x)$$

$$. \quad f(x) \quad g(x)$$

$$D, \quad f(x_1) > f(x_2) \quad g(f(x_1)) < g(f(x_2)),$$

$$(g \circ f)(x_1) < (g \circ f)(x_2), \quad (g \circ f)(x)$$

$$: \quad f(x) \quad g(x)$$

$$(g \circ f)(x)$$

\diamond : $2^{\log_3 x} = -x + 2, x \in R^+$.
: $f(x) = \log_3 x, f: R^+ \rightarrow R, g(x) = 2^x, g: R \rightarrow R^+.$ $f(x)$
 $g(x)$, 4
 $(g \circ f)(x) = 2^{\log_3 x}$. $h(x) = -x + 2,$
 $h: R \rightarrow R$, 3
 $(g \circ f)(x) = h(x)$.
 $x = 1.$
: $\sqrt{x+5} - \sqrt[4]{20-x} = 1$ $R.$
: $f: [-5, \infty) \rightarrow R, f(x) = \sqrt{x+5}$
. $g: [-\infty, 20) \rightarrow R,$
 $g(x) = \sqrt[4]{20-x}$
. $h: [-5, 20] \rightarrow R, h(x) = \sqrt{x+5} - \sqrt[4]{20-x}$
. $x = 4$
, I .

- :
1. $\log_2(1 + \sqrt{x}) = \log_3 x.$
 2. $\log_2^2 x + (x-1)\log_2 x = 6 - 2x.$
 3. $2\log_3(\text{ctgx}) = \log_2(\cos x).$
 4. $(\frac{1}{2})^{\log_3 x} = x.$
 5. $x^{\log_2 \sqrt{5}} = |x^{\log_2 3} - 2^{\log_2 x}|.$
 6. $(2^{\log_5 x} + 3)^{\log_5 2} = x - 3.$

:

Gazeta matematica-SSM Romaniaia;
Revista matematica din Temisoara.